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EO_HEERNMIEDHEF (BBF1404E~ FErf284F)

(M/kg)
I H S40 S50 S60 H21 H22 H23 H24 H25 H26 H27 H28
ANRY b 2,056 3,381 4,237 3,363 2,854 2,338 1,929 1,413 2,079 3,521 4,042 1
HLULNV=IT 370 850 1,114 1,006 936 935 927 979 1,024 1,031 1,052
HHZ 667 762 689 388 372 355 294 343 401 425 457
ADE-IT - 589 610 248 233 228 246 243 250 260 235
Vixt=lt 518 765 795 445 426 371 367 390 404 440 424 %2
SELHL - - - 523 490 416 407 457 449 449 419
F=IT - - - 679 751 656 638 652 684 648 722
Ty ¥ - - - 617 611 504 439 504 509 477 513
E3S) = b) 1,591 8,413 15,076 30,862 16,175 31,654 30,667 33,208 30,609 26,243 22,467
GE) 1 ELWM=1HZ LB fHE Dl T, $40,50,604F (3B 5 - 52 - 7 F - KR, X MET
H19FE LIMZ TR R, #EOETIEOEF MG OHRTY.
(BZLUM= T S O (4% (3R IR o R ENFE T35 O £ S 3 fli4%.)
2.840,50,60FE DUz T X SRHELOEMNEENTLVS.
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EOUNDERAMREYERNMISDHTE  (mEinof~F284E)

(F/kg)
HH B S40 S50 S60 H21 H22 H23 H24 H25 H26 H27 H28
=ITMDZ  H/ke 41 82 134 213 194 200 182 191 195 191 191 &EFEHFEE
N REPREFEHS
Hhav FM/kg 1,153 4,476 7,199 4,276 4,453 5,125 5,792 6,212 7,353 6,502 5,967 F TR GRE)
£55L M/kg 4,760 24,650 26,330 48,000 46,200 48,300 46,200 46,920 47,520 47,520 47,520 HEEEHEERE
#Ern B/R 353 1,950 2,133 1,608 1,608 1,608 1,608 1,608 1,608 1,608 1,608 ENFEAitE
R # FH/m?® 29,867 110,460 85,000 80,000 80,000 80,000 80,000 80,000 80,000 80,000 80,000 ZR# it
Rix(B) F/ke 27 92 128 130 127 129 142 166 184 185 176 HEEHEEE
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